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Die Funktionen f(r) = r+e¢* und g(r) = =~ haben 3 Schnittpunkte. Die r-
r*—1 I

Koordinaten dieser Schnittpunkte sind ungefihr: = 226,-05, 2.4






A, 34
oA dt= T %, £, f) A
A4 t A
4 AT -g, f)-4 fk)A
w A wd s S 4 ;
%M"}*Wi’/f:i— 7 rwsTea ’)tWA:T'W":%.
b) 4,=4: f |
[ddt= 5, 8=, (k) A
4 L"«Mouc:'%,, HE)= L, o)A
7 A 4,
Stk £-4 s t)- {:Z WEREYE
‘L, , : _ A: 4 o 4 (+,-4) -A - H, - 3
Wt Wy = 3 > w,)_,- g ~W, w, < »n(é-A) ﬂ T2t 42(-(;1-,()
, 4 -4
. wtw,=2 S
i . N -A . '4‘&/'1}3" - .i_ . o o
' 7o 124,-4) A2(4,- A) § / ) 42(7&"7”
ctre4t-3 = Z(44) | S

3

“SEE 204, -AS 424, 42 =542+ 8 E - 3 =0
- N NI ST -9':2,‘ 0

o - - "‘é’ - 3
(ﬁ')‘,l N 2.-8) o | *edo/ 0 /(/5'
" S i -2 '
‘ =t = 7 ,
we—a— . 5 . 2.5 3
LT alt-) 24, K NEEEZARTEY

Ty - T 043240(#0334753 - (07

[T,-5] _ 8. 72304 34864043003+ 407

} r = j + //‘S 2@ )
47 q /76(\%%\






